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Question: 1.

Select which of the following correctly describes WSDL. (WSDL 1.1)

A. WSDL assumes SOAP as the message transmission form

B. When WSDL is defined by a combination of style="rpc" and use="encoded", then
encodingStyle="http://schemas.xmlsoap.org/soap/encoding/" must be designated

C. When WSDL is defined by a combination of style="rpc" and use="encoded", then the
encodingStyle attribute cannot be designated

D. WSDL may be defined by a combination of style="rpc" and use="literal"

Answer: D

Question: 2.

Which of the following describes the most correct call order of the ContentHandler interface
methods when parsing the following "XML Document" using a non-validating SAX parser? This
guestion reflects line feeds within the XML document.

[XML Document]

<a>

<b>

c

</b>

</a>

A. startDocument - startElement - characters - startElement - characters - characters - characters -
endElement - characters - endElement - endDocument

B. startDocument - startElement - ignorableWhitespace - startElement - ignorableWhitespace -
characters - ignorableWhitespace - endElement - ignorableWhitespace - endElement - endDocument
C. startDocument - startElement - startElement - characters - endElement - endElement -
endDocument

D. startDocument - startElement - startElement - characters - characters - endElement - endElement -
endDocumentW

Answer: A

Question: 3.

Push the Exhibit Button to load the referenced "XML Document".

[XML Document]

<TestML xmIns="urn:xmImaster:testml!">

<record level="1" data="100" />

<record level="2" data="250" />

</TestML>

Choose the XML Schema Document that does not correctly define the structure of the "XML
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Document".

A. <xs:schema
xmlns:xs="http://www.w3.0rg/2001/XMLSchema"
targetNamespace="urn:xmlmaster:testml|"
xmlns:tns="urn:xmlmaster:testm|" >

<xs:element name="TestML" type=" tns:testm|Type " />
<xs:complexType name="testmIType">

<xs:sequence>

<xs:element ref="tns:record " maxOccurs="unbounded" />
</xs:sequence>

</xs:complexType>

<xs:element name="record" type="tns:recordType " />
<xs:complexType name="recordType">

<xs:attribute name="level" type="xs:int" />
<xs:attribute name="data" type="xs:int" />
</xs:complexType>

</xs:schema>

B. <xs:schema
xmlns:xs="http://www.w3.0rg/2001/XMLSchema"
targetNamespace="urn:xmlmaster:testml|"
xmlns="urn:xmlmaster:testml|" >

<xs:element name="TestML" type="testmIType " />
<xs:complexType name="testmIType">

<xs:sequence>

<xs:element ref=" record " maxOccurs="unbounded" />
</xs:sequence>

</xs:complexType>

<xs:element name="record" type="recordType " />
<xs:complexType name="recordType">

<xs:attribute name="level" type="xs:int" />
<xs:attribute name="data" type="xs:int" />
</xs:complexType>

</xs:schema>

C. <xs:schema
xmlns:xs="http://www.w3.0rg/2001/XMLSchema"
targetNamespace="urn:xmImaster:testml" >
<xs:element name="TestML" type="testmIType " />
<xs:complexType name="testmIType">

<xs:sequence>

<xs:element ref=" record " maxOccurs="unbounded" />
</xs:sequence>

</xs:complexType>

<xs:element name="record" type="recordType " />
<xs:complexType name="recordType">

<xs:attribute name="level" type="xs:int" />
<xs:attribute name="data" type="xs:int" />
</xs:complexType>
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</xs:schema>

D. <schema
xmlns="http://www.w3.0rg/2001/XMLSchema"
targetNamespace="urn:xmlmaster:testml|"
xmlns:tns="urn:xmlImaster:testml">

<element name="TestML" type="tns:testm|Type" />
<complexType name="testm|Type">

<sequence>

<element ref="tns:record" maxOccurs="unbounded" />
</sequence>

</complexType>

<element name="record" type="tns:recordType" />
<complexType name="recordType">

<attribute name="level" type="int" />

<attribute name="data" type="int" />
</complexType>

</schema>

Question: 4.

Which of the following correctly describes the DOM (Level 2) Node interface?

A. The Node interface can be used to change the value (nodeValue) of the DOM element node

(Element)

B. The Node interface can be used to change the name (nodeName) of the DOM element node

(Element)

C. The Node interface can be used to change the value (nodeValue) of the DOM attribute node (Attr)
D. The Node interface can be used to change the name (nodeName) of the DOM attribute node (Attr)

Question: 5.

Push the Exhibit Button to load the referenced "XML Document 1" and "XML Document 2," and

process XML using "DOM Processing."

Page 4

Answer: C

Answer: C
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[MML Documentl]
<rootl xmlns="nn smimaserEX]">
<data- sming values/dats
roerl
(XML Docwur=ut2]

roct2 xmins="um:xmhnasrer EX2"
Select which of the following is the most appropriate expression of the results under XML 1.0. Line
feeds and/or indents are not reflected in the results.

[DON Processing]

Process XML usise e following meiliod
Deocument outout = vpda=3ML{ docl, doc2 ),

The »anable docl here refers to the Decuntent instanice of the leaded XML Document 1

The vanable doc? bere refers bo the Doctment insmance of tae loaded XML Document 2
The DOM parter 15 namsspa -2 aware

ATFHES N0 €XSCUToN CII0m.

public static Document update MML( Documient docl, Document doe2 ) |
Node data = docl getBlemennsBrTapMNameN5( " umsmlmasterEXLD . " dam " Yabemdlf;
MNode impomed = doc? ampontNode| data, tue)
doe ] gatDocumentElement,  appenaC hld impon ed

iettun doc?

A. <root2 xmlns="urn:xmlmaster:EX2">
<data xmlns=" urn:xmImaster:EX1 " >string value</data>
</root2>

B. <root2 xmIns="urn:xmImaster:EX2">
<data>string value</data>

</root2>

C. <root2 xmlns="urn:xmlmaster:EX2">
<data xmlns=" urn:xmlmaster:EX1" />
</root2>

D. <root2 xmlns="urn:xmlmaster:EX2">
<data/>

</root2>

Answer: A

Question: 6.
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Push the Exhibit Button to load the referenced "XML document".

[XML Document]

<root><data>Imnop</data></root>

Assume that the "XML Document" is changed to the "Results XML Document." Select which XSLT
style sheet correctly performs the transformation. Note that the XSLT processor can output
transformation results as a document.

[Results XML Document]

<ZZZ><YYY>Imnop</YYY></7Z2Z>

A. <xsl:stylesheet version="1.0" xmlns:xsl="http://www.w3.0rg/1999/XSL/Transform">
<xsl:include href="exam.xsl" />

<xsl:template match="/">

<xsl:apply-templates select="root " />

</xsl:template>

<xsl:template match="root " >

<AAA><BBB><xsl:value-of select=" data " /></BBB></AAA>

</xsl:template>

</xsl:stylesheet>

[exam.xsl]

<xsl:stylesheet version="1.0 " xmlns:xsl=" http://www.w3.0rg/1999/XSL/Transform " >
<xsl:template match="//root " >

<Z77><YYY><xsl:value-of select="data " /></YYY></777>

</xsl:template>

</xsl:stylesheet>

B. <xsl:stylesheet version="1.0" xmlns:xs|="http://www.w3.0rg/1999/XSL/Transform">
<xsl:import href="exam.xsl" />

<xsl:template match="/">

<xsl:apply-templates select="root " />

</xsl:template>

<xsl:template match="root " >

<AAA><BBB><xsl:value-of select=" data " /></BBB></AAA>

</xsl:template>

</xsl:stylesheet>

[exam.xsl]

<xsl:stylesheet version="1.0 " xmlns:xsl=" http://www.w3.0rg/1999/XSL/Transform " >
<xsl:template match="//root " >

<Z77><YYY><xsl:value-of select="data " /></YYY></777>

</xsl:template>

</xsl:stylesheet>

C. <xsl:stylesheet version="1.0" xmlns:xs|="http://www.w3.0rg/1999/XSL/Transform">
<xsl:include href="exam.xsl" />

<xsl:template match="/">

<xsl:apply-templates select="root " />

</xsl:template>

<xsl:template match="root " >

<AAA><BBB><xsl:value-of select=" data " /></BBB></AAA>

</xsl:template>
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</xsl:stylesheet>

[exam.xsl]

<xsl:stylesheet version="1.0 " xmlns:xsl=" http://www.w3.0rg/1999/XSL/Transform " >
<xsl:template match="root " >

<Z77><YYY><xsl:value-of select="data " /></YYY></777>

</xsl:template>

</xsl:stylesheet>

D. <xsl:stylesheet version="1.0" xmlns:xsl="http://www.w3.0rg/1999/XSL/Transform">
<xsl:import href="exam.xsl" />

<xsl:template match="/">

<xsl:apply-templates select="root " />

</xsl:template>

<xsl:template match="root " >

<AAA><BBB><xsl:value-of select=" data " /></BBB></AAA>

</xsl:template>

</xsl:stylesheet>

[exam.xsl]

<xsl:stylesheet version="1.0 " xmlns:xsl=" http://www.w3.0rg/1999/XSL/Transform " >
<xsl:template match="root " >

<Z77><YYY><xsl:value-of select="data " /></YYY></777>

</xsl:template>

</xsl:stylesheet>

Answer: A

Question: 7.

Push the Exhibit Button to load the referenced "XML Document".

[XML Document]

<root><data>Imnop</data></root>

Assume that the "XML document" is changed to the "Results XML Document." Select which XSLT
style sheet correctly performs the transformation.

Note that the XSLT processor can output transformation results as a document.

[Results XML Document]

<lmnop/>

Or

<lmnop></Imnop>

A. <xsl:stylesheet version="1.0" xmlns:xsl="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">

<xsl:apply-templates select="root/data " />

</xsl:template>

<xsl:template match= " data " >

<xsl:element name="<xsl:value-of select="."/>"/>

</xsl:template>

</xsl:stylesheet>

B. <xsl:stylesheet version="1.0" xmlns:xs|="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">
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<xsl:apply-templates select="root/data " />
</xsl:template>

<xsl:template match= " data " >

<xsl:element name="{. }"/>

</xsl:template>

</xsl:stylesheet>

C. <xsl:stylesheet version="1.0" xmlns:xs|="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">

<xsl:apply-templates select="root/data " />
</xsl:template>

<xsl:template match= " data " >

<xsl:element name="."/>

</xsl:template>

</xsl:stylesheet>

D. <xsl:stylesheet version="1.0" xmlns:xs|="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">

<xsl:apply-templates select="root/data " />
</xsl:template>

<xsl:template match= " data " >

<xsl:text disable-output-escaping="no"><</xsl:text>
<xsl:value-of select="."/>

<xsl:text disable-output-escaping="no">/></xsl:text>
</xsl:template>

</xsl:stylesheet>

Answer: B

Question: 8.

Push the Exhibit Button to load the referenced "XML Document".
[XML Dovtument]

oot

data x="1" v="2"=3-/dam

datdx="0" y=4 Gk dari:

data x="1" v="6"=0=""data;

data x="1" y="8">12</daia>
ol

Assume that the character "3" is obtained from the "XML document". Select which XSLT style sheet
correctly performs the transformation. (Multiple answers possible. Select two.)

A. <xsl:stylesheet version="1.0" xmIns:xsl="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">
<xsl:apply-templates select="//data[x="1"][y="2"]" />
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</xsl:template>

</xsl:stylesheet>

B. <xsl:stylesheet version="1.0" xmlns:xsl="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">

<xsl:apply-templates select="//data[(attribute::x="1") and (text()='3")]" />
</xsl:template>

</xsl:stylesheet>

C. <xsl:stylesheet version="1.0" xmlns:xs|="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">

<xsl:apply-templates select="//data[self='3"]1" />

</xsl:template>

</xsl:stylesheet>

D. <xsl:stylesheet version="1.0" xmlns:xs|="http://www.w3.0rg/1999/XSL/Transform">
<xsl:template match="/">

<xsl:apply-templates select="//data[self::*='3"] " />

</xsl:template>

</xsl:stylesheet>

Answer: BD




